HONORS CRITICAL THINKING

CREATING A TREE DIAGRAM:  COMPLEX ARGUMENTS 
Read and number each claim in each passage (you should break up compound claims into simple claims).  You may need to reword some claims and to add implicit premises and/or conclusions.  Then create a tree diagram to show the argument structure.

Context:  
Response to a letter about declining birth rates in Europe
Europe is overpopulated.    Virtually none of the great European forests survive.    Roads, railroad corridors and urban sprawl have fragmented all wildlife populations that cannot fly.    Ancient cities are crammed;    beaches are jammed.    Less is more holds true.    A smaller population will allow a higher standard of living and make it possible to achieve an environmentally stable Europe (and planet).  
